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The fzgmes in the margin indicate full marks
Jor the questions.

PART-A (F -9)

Q. No. 1 (i=~wvi) carries 1. mark each 1x6 = 6
Q. Nos. 2 -7 carry 2 marks eacl 2%x6 =12
Q. Nos. 8 =11 carry 4 marks each - dx4 =16

Q. No. 12 carries 6 marks ' 6x1 =
) Total = 40

PART-B (% -@iex)

Q. No. 13 (i-vi) carries 1 mark einch 1%6 = -6
Q. Nos. 14~ 19 carry 2 marks eacl: : 2%6 = 12
Q. Nos. 20 - 23 carry 4 marks each : 4x4 = 16
Q. No. 24 carries 6 marks ' 6x1= 6
' ; ~ Total = 40

Total (PART'A & B): 40 +40=80
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(ii)
(i1i)

(iv)

(v)

PART-A / T-98

f

Define involuntary unemployment. 1

SRge NegRis wew i

What is effective demand ? 1

A&y vilEm /o

What do you understand by depreciation of capital ? 1

AR RS o [ 9

GNP =GDP -____ : (Fill in the blank)
. _ ;

GNP = GDP - | . (T 3T AT )

What is foreign exchange market ?° o !

(vi)

2L BN

Which of the following transactions are included in the current

account of Balance of Payment ? 1

R4 ATOR bieve Bpiee Nefkike (LD (N CIOG TF ?

(@) Import and Export of goods

TR S S I

(b)  Import and Export of services
GRS S 3QiH

[2]



(c) Unilateral transfer

(d) All of the above

8HTF AR

(Choose the correct oplion)

(v Geh) e Sfeed)

2. Write the differences between GDP at market price and GDP at factor cost.

2

JGT TS GDP ©i% ToimH e GDPR Wiem Ny il
OR /9241

Write one similarity and one difference between intermediate goods and

capital goods. | | ' o 141=2

TR T S T TR 45 A Wi G5 AL i

3. What do you understand by ‘Paradox of Thrift’ ? ' 2

FieeE A oo A4 I & @ie
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OR/S%431

N

' , 2
What is aggregate supply ? Explain. o
wfas @aW 2 3@s G
© 4. Write fwo differences between direct tax and indirect tax.
SEPE I WIS AT IS WGR 707 A1 G|
5. What are the components of high-powered money ? 2
THRAOPTE 4R CAmeE & &2
OR/G%<r
Define Bank Rate and Cash Reserve Ratio. 1#1=2

R P TR WO TR SR ANGS A |

6. Write fwo differences between Balance of Payment and Balance of Trade.

2

ARCNR O W= AV FANOR WeR 757 A7y B

7.  Write in brief the ideas of fixed exchange rate and flexible exchange rate.

/

2

fzz Rt o= = ARSI Rt g9= aeat 451 st B
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8.  What is investment multiplier ? If a new investment of Rs. 300 crore
increases National Income by Rs. 1200 crore, calculate the value of

investment multiplier. In this case, what will.be the value of MPC 7 .

1+1+2=4

s e e T 300 (@S 5T Toa RR@Ie wieE wig 1200 & 5

& F=, (ors RN @osa W S99 <91 | g3rwas, MPC-8 W4 W 297
OR/E%dt

Bricfly discuss the components of aggregate demand. 4

AN BRI TAMINAZ, ALCFCA BNCenvA1 < |

9.  Write diffefen_ces between the f.'ollowing concepts : (any two) 2+2=4
fefalRe w=drRe wes o e (fs?m 557#)
(z') Autonomous inyest%nent and Iﬁduced inveshﬁént.
7oy Rfvcmt s wioters /i
(i) . Ex-ante consumption a]-ld Ex—pgét consumption.

AGHS TATSIN TR KT TAHCSI |

Contd.
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: : - -opensity to save.
(iif) Marginal propensity to consume and Marginal propensity to

e Toirelel sl SR eNfEE Hwy e |

" (iv) Marginal propensity to consume and Average propensity to consume.

difd Toiconl eRael W ST ToAre 2999 |

10. Discuss four main functions of Central Bank. 4

R @R B 2 G ST 9|
- - " OR/&331
Explain how commercial banks create credit. . <

AT RAE @R 9 5 & WA 7|

11.  Discuss the components of Government Budget. ' 4

5FI<! AT AN T SNEG 9
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OR /<%

Define the followiﬁg ;i ’ 1+1+1+1=4

(GIH1VU) ﬁ%ﬂﬂ{?ﬁ e &4l g

(i)  Fiscal Deficit |

IR i

* (i) Primary Deficit
enefics IS

.(iii) Planned government expenditure

o =
ALY DIFIS| QY

(fv) Non-planned government expenditure.

“fRE-IgS bS] IF |

12. Explain how GDP is calculated using Income method. 6

oY faned FYTe (FeME GDP Siodl 3= 28, i 1 |
OR/&%4]

Discuss the reasons why GDP can’t be used as an index of country’s welfare.

6
GDP T (7 @373 IIF 753 S IRZE I (RIS TR STl F1 |-
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PART-B / ¥-914

13. (i), Define sustainable development. v 1
JTmy] TRANS WG fEl |
(i) During British rule, decay of Indian handicrafts was caused by —
v .

g Wi sEe Eﬁw«s EXRER| ‘?{Tﬂ'ﬂ' |9 @l‘f‘iﬁ e
(1)  Discriminatory tariff policy of .the British Government
@) Competition from maclﬁne-ma.lde products

TR TR o[ IR @R aﬁa‘cﬁﬁ”@‘ |

(c) Change in patterns of demand

Sifwia 41eT sifkaew

@ - Al of fie dbove

BT FIRCERIR
(Choose the correct option)
(or Sowst AR Shre)
(1ii) In which y'ear the NITI Aayog was formed ? 1

S (NITI) ticaisi R b 9w 3 Cafme
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(iv) What is the difference between ‘Labour Force’ and ‘Work Force’ ?

1
‘W TR TfE’s e cideE e
(v)  Mention one similarity of the economic policies ado?ted by India and
Pakistan. ' ' ' 1
TR Gk AR a0 7w 9o i1 b Ay TrE w9 |
(vi) The ‘Great Leap Forward’ campaign in China focused on —
1
5 I7< A IR GiYl (Great Leap Forward)’ IR BC I .@@\5
wifeeT — |
(1) Privatisation

JiGared

!

(b) Widespréad industrialisation
BURITIER AR

(c). Development of services sector-
GRl Qw7 R

(d) Economic reform

ST FRHR
(Choose the correct oplion)

(o7 Searh AR SEe)
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14.  Mention fwo major industrial sector reforms in the Indian economy under

the policy of liberalisation. - "2

TR WIS TR Sieeq SYTIfoT Tomie Ae© a9 I 7l 9T FEIS

TEY T4
OR/®33 -

Write about fwo positive effects of LPG policies in the Indian economy.

2
BoRl wdNIfoe LPG TfST by 1w ereies {arm Bl

15. Write two merits of GST. R 2
GST-] 707 7R & |
OR/=12<t

What is demonetisation ? Mention one positive effect of demonetisation in

the Indian economy. | - 2

Rameed &2 orsly we@ifos @i @by 9 2or Bme = |
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16.  What is structural composition of an economy ? As on 2021, which scctor

contributed highest to the GDP of India ? 1+1=2

weAifer wefefee e K2 2021 57 @G 498 ©Kes GDP 06 #<i@s .

9 (iiErz?
OR/®43!

Write fwo characteristics of small-scale industries. 2

TH SR 701 AR R

17. Write two differences between economic | infrastructure and social

infrastructure. * ‘ g

AR SR e ANiEe SnwseRe 7o sl B |
OR/@%441
Write about fwo problems faced by ihe power sector in India. 2

wiRed *ife 1o TYIN @R 757 AR KR %‘?ﬁ'l

32T ECON ‘, : [11] _ Conld.



18. Write any fwo measures undertaken by the Government of India to

improve agricultural me;rkeh'ng._ 2

T TR TeRIF THAE @ ©IFS 5IAR ?J“iﬁ?ﬁ'ﬂ ﬁrmmrfr?‘mw?f SR
OR /@3t

What do you understand by diversification of agricﬁlﬁjre [ 2

P @Whhasd s & 3=

19. - What are the thireec main approaches undertaken by Government of India

. to alleviate poverty ? ‘ ‘ o ‘ _ 2

-

nRTel G AR RS HIANE 9T T T e fornr 5 e
OR/@%a
Write a short note on MGNREGA. ' ' 2

MGNREGA-R Rt 55z @61 (B & |
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20.  Discuss the goals of P]anning in India. 4
CIREIR FREEAR TOPIPTR SITED I |
OR/=ST

_Briefly discuss fwo pdsitive and fwo negative impacts of Green Revolution.

2+2=4

GiEe Rzl 7D €A e 75 49 e R SIS SeEsAl 4|

S

21.  Write a comparative note on the demographic indicators for India, China

. and Pakistan.. _ 4

r

maﬁwaﬁ%ﬁiﬁﬁmﬁsﬁﬁ@w,ﬁﬂmw_aﬁm_

G a@% 3 |
OR /G2

(i) Write fwo reasons for rapid economic development in China. 2-
§ivr wo Gt Rarie 767 e e |
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(ii)  Write fwo reasons for slow economic growth in Pakistan. - 2

et g7 wAfes e by wRd &

22, Write about different types of unemployment. +

BEOGIE ﬁf@.mmﬁm e

N
(%]

Is economic growth, a cause of environmental degradation ? Justify your. .

" answer. . & , 4

SRR TaEd +iRe RaR (@i @b R4 @ ? (UK TR AR Ifegesl

Ao
OR/4<1

(i)  Write two causes of global warming. , ' "2

(o Tl g e

(ii) Suggest two measures for attaining sustainable development in India.
2
TS TETH THE 2fR A 707 AR oD |
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Il
(o))

24. What is organic farming ? Discuss its merits and demerits. 1+5

toie 1 Ree TR R R SRR SEA 39

L)

OR /%31

What is Human Capital ? Discuss the sources of human capital formation.

1+5=6.

MWK Toicd 2 TG o0 91077 SPTE SNG4 |
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